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1.

9.

1'0. Please evaluate I

Find the derivative of the following function, (10 %)

f)=o-x*

Evaluate the integral T (10 %)
(1-x)’

Calculate the square root of 2 by expanding the Taylor series to its 7™ derivative, and

compute the percentage of error from the result of calculator. (10 %)
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(2)3A Taylor Series # 3/8(1+x) ¥ x B & O(xz) M (5%)
OFHAR LR ROy MmELFEFLEE (10%)

1 X
K& lim [1+;j (59) -

sinx

Please evaluate Lm dx (10%)

2cos” x—3cosx—2
Please find the domain of x such that the following series converges. (10%)
S =1+tan(x?)+tan® (x*) +tan’ (x*) +...+ tan" (x*), n >

¥4
Please evaluate J sinfcosf — %\a’@ (10%)

0

X

(x+2)(x +3)(x+4)

dx (10%)
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